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Directions

for the following 8 (eight)!
itemns : ‘

enterprise can flourish and citizens can,

Read each of the following two passages
and answer the items that follow. Your
answers 1o these items should be bosed on
the passages only.
Passage-1 |
For achieving inclusive growti*rj
there is a critical need to rethink the roleti
of the State. The carly debate among |
economists about the size of the.
Government can be misleading. The need |
of the hour is to have an enabling%
Government. India is too large and
complex a nation for the State to be able
to deliver all that is needed. Asking the
Government to produce all the es-ential
goods, create all the necessary jobs, and | 1.

. . |
keep a curb on the prices of all goods is to

lead to a large cumbersome bureaucracy
and widespread corruption. 5
1

The aim must be to stay with the |
objective of inclusive growth that was laid |
down by the founding fathers of the
nation and also to take a more mudern!

view of what the State can realistically |
deliver. |

This is what leads to the idea of an
enabling State, that 1s, a Government that ‘
does not try to directly deliver to the
that  they
Insteao, it (1) creates an enabling ethos |
for the that

citizens  everything need.

market so individual

P-PFC-L-CGJB (2 - A)

for the most part, provide for the needs
of one another, and (2 steps in to help
those who do not manage to do well for
themselves, for there will always be
individuals, no matter what the system,
who need support and help. Hence we
need a Government that, when it comes
to the

incentive-compatible rules and remains on

market, sets effective,
the sidelines with minimal interference,
and, at the same time, plays an important
role in directly helping the poor by
ensuring that they wget basic education
and health services and receive adequate

nutrition and food.

According to the passage ;

1. The objective of inclusive growth
was laid down by the founding

fathers of the nution.

2. Need of the hour is

enabling Government.

to huve an

oo

The Government should ¢ngage in

maximum interference i market

processes.,
4.  There i3 a need to change the size of

the Government.

Which of the statements given above are
correct 7

{a) 1 and 2 only

b} 2 and 3 only

{c; 1 and 4 only

(d) 1,2, 3 and 4
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2, According tv the passage, the strategy"'4.
of inclusive growth can be effected by‘
focussing on l
‘a) Mecting all the needs of every
citizen in the country.

(b) Increasing the regulations over the
manufacturing sector,

(c) Controlling the distribution of 5
manufactured goods. )

{d. Delivery of the basic services to the
deprived sections of the society.

3. What constitutes an enabling ‘r
Government ?

1. A large bureaucracy.

2.  Implementation of welfare
programmes through
representatives.,

3. Creating an ethos that helps!
individual enterprise,

4. Providing resources to those who :
are anderprivileged.

5. Offering direct help to the pour
regarding basic services.

Select the correct answer from the codes

given below : l

(a; 1,2 and 3 only

by 4 and 5 only !

(¢) 3,4 and 5 only |

(d) 1,2 3,4and 5

P-PFC-L-CGJB {4 .

A

Why is the State unable to deliver “ajl
that 1s necded” ?

L. It does not have sufficient burcaucracy.
2. It does not promote inclusive growth.
Select the correet answer from the codes
given below :

(a)
{b; 2 only

(e) Both 1 and 2

{(d} Neither 1 nor 2

What is the cxsential message being
conveyed by the author of the passage ?

I only

fa} The objectives of inclusive growth
laid down by the founding fathers of
the nation should be remembered.

tb) Trhe Government needs *o make
available more schools and health

services,

The Government needs to establish
markets and industries to meet the
needs of the poor strata of the society.

‘d}  There is a need to rethink the role of
the State in achieving inclusive
growth.

Passage-2
The concept of ‘creative society’ refers
to a phase of development uf a sctiety in
which a large opumber of potential
contradiclions become articulate and
active. This is most evident when
oppressed social groups get politically
mobilised and demand their rights. The
upsurge of the peasunts and tribals, the
movements for regional autonomy and
self-determination, the environmental
movements, and the women’s movements
in the developing countries are signs of
emergence of creative  society  in
contemporary times. The forms of social
movements and their intensity may vary
from country to country and place to place
within a country. But the very presence of
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movements for social transformation in
various spheres of a society indicates the
emerverce of a ereative society in a
country.

What does the author imply by “ereative -
society” ¢ :

1. A society where diverse art forms
and literary writings scok inecutive.

2. A society where social inegualities
are accepted as the norm. !

3. A suviety where a lurge number of
contradictions are recognised.

4 A soviety where the exploited and |
the oppressed groups yrow conscious
ol their human  rmight.  and
upliftmenn,

. i
Seleat the correet answer p-ing the codes
given oelow

‘a- 1. 2and 3 1
b 4 only
. 3 and 4 i9,

‘d 2 and 4

What according 1o the passage arce the
manifestations of social movemeni
1. Aggressiveness and being incendiary. ;
2. Instigation by external {orces. :
- . . - . !
Quest for socal equality and individual
freedom
4. Urge  for  granting  privilege:  und
self respret to disparaged sections of |
thie SHCIety. k
Select the torrect answer using the codes |
given below ¢
‘a1 and 3 only ;
b 2 and 1 unly i
‘e 3 and 1 only

de 1208 and 4

P PFC.L-CG.B ‘6

With reference to the passage, consider

the following statements -

1. To »e a creative socicty it s
essential to have a variety of social
movements,

2. To be a creative society, it is
imperative  te¢ have  puotential

contradictions and cenflicts,

Which of the stutements given above
is’are correct ?

tay 1 only
‘bt 2 only
c. Both 1 and 2

‘dr Neither | nor 2

Consider the following three statements :

. Onrly students can participate in the
race.

2, Some participxnts in the race are
girls,

3. All gir! participants in the race are
invited for coaching.

Which one of the following conclusions

can be drawn from the above

statements 7

ta’  All participani= in the race are
invited for coacking

by All  stodents  are
coaching.

invited  for

ic: Al participants in  the race are
students,

{d) None of the statement- fa), (b: and
fe; given above s corrvect.
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Directions for the following 2 (two) items: 12.

kach of the following two items CONSISLS :
of  four Of  these four'
statements, lwo cannot both be true, but
both can be folse. Study the stotements
carefully and identify the two that
satisfy the above condition. Select the!
correct answer using the codes given |

statenents.

below zarh set of statements : '
|
10. Examine the following statements : :
1. All #nimals are earnivorous.
2,  Scme animals are nol carnivorous.
3.  Animals are not carnivorous.
4 Some animals are carnivorous.
Codes :
(a) 1 and 3 '
(b; 1 and 2 i13.
e} 2and 3
‘d: 3 and 4
11. Examine the following statemonts :
I All trains are run by diesel engine.
2. Some trains are run by diesel
engine.
3. No train is run by diesel engine
4. Some trains are not run by dicsel:
eng:ne,
Codes : i
‘ay 1 and 2
(b)Y 2 and 3
‘) 1 and 3 *
(d} 1 and 4 |
P PFC-L-CGJB (8- A)

Consider the four age pyramids given
namely A, B, ¢ and D
representing four different countries.

0

below

—_ - I’ercer_lt i;i 7age (}lass - — B
Which one of them indicates the
declining population 7
{a; A
by B
ey C
(d} D

The following figure has four curves
namely A, B, C and . Study the
figure and answer the item that follows.

3
s
=
z
:'l‘
g 5
F=RRI*
- |
= l-.
a -
[=] = 3 _ —_—
[= V¢ ] e N  E U M 4
BAD 203 $0F vl U Tl Dhdr T Lo TEUS 2030
Yeur
Which curve indicates the exponential
growth 7
ta} A
by B
{cy C
(dy D
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Directions for the following 2 (lwo) items :'14. Which of the iws towns has a higher

The following pie charts show the number of persons with Digbetes ?
break up of disease categories recorded in {(a} Town A

the patients from two towns, Town A and ib) Town B

Town B. Pie charts plot the disease ‘¢; Same in Town A and Town B
categuries  as  percentage of the total (d} No inference can be drawn

number of patients. Based on these,

answer the two items that follow the|ys, What can we say about persons with

charts. more than one disease from these

graphs 7

‘a) There are likely to be persons with
more than one disease in Town A.

Distribution of discases in Town - A

{b) There are likely to be persons with
I more than one disease in Town B.

B
L

TS 1 Diabetes ]

! (c) There are likely to be persons with
f more than one disease in both
t Towns A and B.

Hii{?ﬁm’ | {d) No inference can be drawn.
‘ !16. Consider the following Velocity  Time
-+ graph. It shows two trains starting
Heart Disease 1y | simultaneously on paralle! tracks.
- 229 ' l
. d—-‘:’w \

)
b
-
(=}
=1
p——
€L
-

?
i
|
|
]
|
! -

o o
- thers Qi1 s R
N 20¢r W Dl‘ab‘etem =R With reference to the above graph, which
It} R 2dts one of the following statements is not#
FT S P e L carrect ?
N —
i 1 Tr ™ ta) Train B has an initial acceleration
[ Obesity greater than that of Train A.
\ 28 , (b} Train B is faster than Train A at all
‘ i | times.
\ ' ﬁf Heart Iisease ] L fc} Both trains have the same velocity
\| ‘ A1 30¢ i at time t,.
h \{ 11+ ! (d) Both trains travel the same distance
] \mi H ; in lime i, units.

P-PFC-L-CGJUB (10 - A}
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7.

Direetions for the following 6 (six} items :

Read ench of the following two possoges
and answer the items that follow. Your
answers to these items should be hased on
the passages only.

Passage-1 l

Ecosystems provide people with ar
variety of goods and services; food, c!ean'
flood

pellination,

water, clean air, control, soi”

stabilization. climate

regulation, spiriteal fulfilment and
aesthetic enjuyment, to name just a few.
Most  of benefits

irreplaceable or the technology necessary !

these cither are

. Yo , !
to reptace them is prohibitively expensive.
For example, potable fresh water can be:
provided by desalinating sea-water, but

only a1 great cost.

The
population

rapidly expanding human
greatly modified the

Earth’s ecosystems to meet their increased

has

requirements of some of the gzoods and
services, particularly food, fresh water,

timber, fibre and fuel. These modifications

have contrbuted substantially to human
well being and economic development. The |

benefitz have not been equaliy distributed.
Some people have actually been harmed |
by these changes. Moreover, short Lurm!
increase: in some ecosystern goods and
services have come at the cost of thel
For !
example, efforts to increase the production |
of food and fibre have decreased the
ability of some ecosystems to pm»ide[

long term  degradation of others.

clean water, regulate flooding and support |
biodiversity.

P-PFC L-CGJB

18.

With reference to the passage. consider
the following statements.

Expanding human
adverse effect on :

population has an

1.  Spiritual fulfilment
2.  Aesthetic enjoyment

3. Potable fresh wazer

4 Production of food and fibre

5 Biodiversity

Which of the statements given above are
correct ?

1, 2 and 3 only

i gl

‘b: 2, 4 and 5 only
ic, 3 and 5 only
d; 1,2, 3,4and 5

The passage mentions that "some people
have actually been harmed by these
changes”. What does it imply ?

1. The rapid expansion of population
has adversely aflected some people.

Sufficent efforts have not been
made tv increase the productivn of
food and fibre.

3. In the short term some people may
be harmed, but in the long term

everyone will benefit from
modifications in the Earth’s
ecosyslems.,

Which of the statements given above

is/are correct ?

iat 1 only

ihy 2

{ct 1 and 3

(d} None of the statements given above
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TS GAT A FTHEME |

P-PFC-L-CGJB {13 - A)

11%@%@#%%@%&@%

Hifore |

o e SR B uiige JHE asdl #

1. memfeAs aRay W

2. dieduids FHE W)

3. U 39T Fd W

4. @@ v W F IOEET R

5. Fa-fafagar )

wﬁﬁhﬁﬁm@ﬁ?

(a) ®acr 1,23 3

(b) FaeT 2,43 5

(c) am 33R 5

(@ 1,2,843K5

e ¥ I 2 B g WRa d gB

A &) T e g8 © |7 59 ous | a

saftea € ?

1. FEn & dF g & P6 o W
yidper yWTE 92l & |

zamﬁﬁ%mmﬁﬁmﬂf
fore et yom 8 g E !

3. gt & uRferfadaat & sraRad= @

ety ¥ oo ANl @ O & 9w
T &, g dfaftn & it dnlt &
MY TgT |

mﬁﬁ%ﬁWﬁﬁﬂﬂ@%’

(a) ¥ad 1

(b) 2

© 13R3

@ 3w ool § B8 0
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With reference to the passage, consider'20.
the following statements :

oo It ix imperative to mod:fy  the
Barth’s ecosystems for the well |
being of mankind. !

2. Technology can never replace all the

goods  and  services  provided by
ecosystems.

Wheh of the statements given above
is/are correct ?

{a})
‘b; 2 only
(ci Both 1 and 2 '
fd;  Neither 1 nor 2 ‘

|

21,

I only

Passage-2

A moral act must be our own act; must

If we act!
mechunically, there is no mora cuntent in .

spring from our own will.

our act. Such action would be moral. if we \
think it pruper to act like a machine and

do so. For, in doing so, we use our

discrimination. We should bear in mind !
the acting

between ’
mechanically and acting intentionally. It 122,

distinetion
may be moral of a king to pardon a culprit,

But the messenger carrying out the order I
of pardon plays only a mechanical part in'
the king’s moral act. But if the messenger |

were to order
considuring it to be his duty, his action

would be a moral one. How can a man

carry out the Kking's

understand morality who does not use hisl
own intelligence and power of thought, but

lets himself be swept along like a log of
wood by a current ? Sometimes a man
defies convention and acts on his own with 3.
a view to absolute good.

A

Which of the following statoments best

describe/describes  the thought of the

writer 7

I. A moral act calls for UsInNg  our
discretion.

2. Mar should react o a situation
immediately.

oo

Man must do his duty.

Man  should be  able 1w
convention in order to be moral.

defy

Select the correct answer from the codes
given below :

(a) 1 only

{(by 1 and 3
ey 2 and 3
‘di 1 and 4

Which of the following <tatements is the
nearest  definition of moral action,
according to the writer 7

tar It ¥ a mechanical wction based on
official orders from superiors.

iby It 1s an action based on our sense of
discretion.

(er It is a clever action based on the
clarity of purpose.

‘di It is a religious action based on

understanding.

The passage contains & statement “lots

himself he swept along like a lug of wood

by a current.” Among the follewing

statements,  whach nearest  in

meaning to this 7

1. A person does not use his own rewson.

2. He is susceptible to inflaence/pressure.

3. He cannot withstand  difficulties
challenges.

4 Heis hke a log of wood

izare

Select the correct answer using the codes
given betow :

{a} 1 only

(b} 1 and?¥
(¢} 2and 3
(dv 1 and 4




19. @ ¥ gy ¥, Freefaiad soEl ) f9UR | 20.

Hfse '

1. WFE A P oedol $ oE gl &
HTITE © |

9. i & ff aRfforaa s
T RIM & o TP | |

g ¥ ¥ Bl-ay-d s e &R ?

(a) Sadl 1

(b) &ac 2

(©) 13k 22t

@ Fd1dkTR 2

TE-2
Tifge; |21

FE B ¥ a9 ot @ e | 6 |22
=T ¥ e ve st @ amEE 3 Afas
2 gt & | g 39 emeH S R &
e B T g ol & §9 Aldd pod #
¥am ue ditye 4 o & e o
& | Ty 9€ ¢d TN B AR T AR JO
w3 wuseR falE &, a1 391 T TP
it Hoa B | B ver wafe S s
fz 3R feur @fts &1 wdm 78 @, 3R
= P URT P YGE P 9 Ghe B
* T 98 I oa &, Hwar B wer B9
U IHaT & | Rp HW-GHH WA ST
# g F T P e IR @ 3 Fol
Y o o)l € |

P-PFC-L-CGJB {156 - A )

Erafufag § ¥ sH-9/aR-2 T2 dEs &

o o1 TaknT ao aRar B/aRd & ?

1. e woa @ i & foe o e &
YT HEYED ¢ |

0. fr fafy & wa waw & e
gfeferar @< amfge |

3, TLO B AW FEA F e B &

EIG

4, it BW & fow ags @ Wi @ s
= awd 1 e |

Y Re e G B HEEar ¥ qE TR G

(@ 134

s ¥ oguR, R #§ & sF-a

o AP Hea B Frocan aRwmT 8 2

(a) U8 dR%l & NfiERe eEl W
amenika aifye $a 8 |

by T% 3 Fie-ae waneRa g & |

() U 3G B GEEAl R MR TR

Hd e | |
@) O THE W IenRa e 3 ¢ |

dan i o 5w W ARl B

YaIE ¥ Y A0S $ T S THF §€ T

o ¢ 1 Fefafed 4 3 sR-weR-d

B, FAE/SAD epean 3 /8 ?

1. @RE AT adgfe o waAm TE ox |

9. ag wwa/eEE & g afawnre 2 |

3. ag sfegdi/gHikal B aEAr TE A
T |

4 TEEDH D PR S FAAR |

IR R e g B FE™dar A T TR G

{a) &g 1

M 132

(¢) 23R 3

(d) 134




23. Consider the following distance time 25.
graph. The graph shows three athletes A,
B and C running side by sidc for a 30 km
race.

_ C B
35'- .
f 30!: "A
i .
Logsl
o l '
= 20 :
g * ,
5 15} f
Q t
g m} .
5 ]
O 5 o 15 20 25 30 85 40 45
Distance in km - +> ;
With reference to the ahove graph, |
consider the (ollowing statements ‘
1 The race was won by A
2 B was ahead of A up to 25 km 126,
mark
3. € ran  very slowly from the
beginning. _
Which of the statements given  above
is‘are correct ?
{a. ! only
‘b: 1 and 2 only
{ct 2 and 3 only
dr 1, 2 and 3
24. Consider the following figures :
S5 (5770
0 | 24 120 36 |
What ix the missing number ?
ta: 7
(b &
‘c. 9
id» 10
P-PFC L-CGJB (16 - A

Study the following figure :

A person goes from A to R always moving
to the right or downwards along the lines.
How many different routes can he adopt 7

Select the correct answer from the codes
given below :

(ay 4
(hi &
{ci 6
(d: 7

Consider the following figure and answer
the item that follows :

What is the total nomber of triangles in
the above grid ?

fa: 27
(by 26
fe: 23
(dy 22
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Preffad g -wwa s wfaar
T | I8 e A, B w9 C A 09 g@d
aﬁaeﬁm%‘shmmsoma?raﬁgm ,

WE

C 1B
35} |
1
30+ :A
25} X
A [}
4 20f l
]
E 15} B :
E 1w} C |
. ]
5} .
]

0 5 10 15 20 25 30 35 40 45

Wkm§ —
IR I & e 9, ﬁmﬁ-fﬁaﬁm
W R S

1. <z ¥ uEs A g8 |

an |

3. mcsﬁ#éa@ﬁ%ﬂgww1 '

Jdes # ¥ PP U G /e 7
(a) dhael 1 ‘ :

(b) ad 13 2

(¢) oam 23k 3

CY 1, 23R 3

%ﬁﬁm@%ﬁmﬁaﬁm
2 6 3 1 ?
80 24 120 | 36
T I T | ?

(a 7

(b) 8

(c} 9
(d) 10

25.

26.
2. YUH.25 km d@® UTd® B OGP A I

{17 - A)

T & smpfa w faR i -

U At A B o gHIN @ B AR-ERL
afeh fem & sre@r 9 & Ren § s g
s & | a8 e FET-STT ant 3T -
ol & P

A
‘B .
N e w g & wEma d [ TR
gfe -
(a) 4
(b) 5
(c) 6
(dy 7
et sl W R Hifte 3R 396

IR R ey @1 IR &f5we -

qu;,?s fre # Fpl @ oo S R
g7?

(a) 27

(b) 26

(e) 23
(dy 22




Directions for the following 4 (four) items

PPFrC L CGUB .

Rowd the folisaring possoge and unswer

Mo ctonie that follow. Your answers fo .
thove ttoree bl he bosed on the
firsag s anly

Passage

A country under foreiom dornnation
D

seehe estaoe from the present ip dreams
of a varched age, and finds consolation
0 vi-ons of past greatness. That is a

foolish and dangerous pastime in which
equally {

af
i

guest onable practice for us in India is to |

many us indulge. An

tmamac that we are still spintually
great thuuprh we have come down in the
world in other respeets. Spiritual or any

other grostncss cannot be founded on

fack of trecdom and oppurtunity. or on:
#Larvalion

and  misery. Many western
wriler s have eacouraged that notion that
tadiars are other worldly, | suppose the
poor and unfortunate in every country
Decume Lo exloent

some other-warld}y.

araless they become revolutionaries, for

thes world i~ evidently not meart for:

thom 8o aleo subyject peoples. {

As 4 man grows to maturity he is
ontirely or satisfied

with, the externatl ohjective world. He

not engrossed in,

secke alio some inner meaning, some
veycholopes. and physical satisfactions.
Seoaleu worh peaples and civilizations as
thew adult.

people

Every
exhibit
theer arallen <treams of an exterral Tife

Trature  and  orow

avilization  and  ewvery
ang an interau! bl Where they meet or
tr st other, there s an
and  stabifity.  When they

tdiver:n confiet arses 2nd the o ses that |

RePt o o

eguithbrium

Lorture the mind and spirit

18

;27

-28.

29,

The passage mentions that “this wirld iy
evidently not meant for them”™ It rofers tu
people who

L. seck freedom tram fareign dommrestion.
2. live in starvation and Misery.

3. become revolutionaries.

Which of the statements given above
isfare correct 7

tal I and 2

th: 2 only

icy 2and 3

‘dy 3 only

Consider the following assumptions .

-

- A country under forewn domination
cannal indulge in spimtual pursaoit.

2. Poverty is an ‘mpediment in the
spirttual pursuit
3. Subject peop!les may become

other-worldly.

With roference to the passage, which of
the above assumptions is‘are valid 7

fa) 1 and 2
tb: 2 only
e 2 and 3

d 3 only

The passage themat:cally centres on
d  the state of mind of approssed peuple
b starvaron and misery

the growth of vivi ization

body. mind ard spimt of peuple in
gencry!
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e ad & 1 g 3 A @ Gikie axar 2,
il

1. faRel wym & e o € |

2. @R 3R g@ & FiE S 7 T

3. HIAER & A £ |

39w § A S-S TF I BfE P
(a) 132

(b) e 2

(c) 233

(d) Fad 3

Frfefiea Al W R S -

1. faeh wpm & 39 v Qw aneatere
FEROT H A el 8 [ |

2. amemifeAd ARVl A e saRies
!

3. WREH 3 WelS-0RIT0] & 98 & |
yed o & Hed #, M- 3w
HGA/ATE 39 &/8 ?

(a) 13k 2

(b) ®Had 2

(c) 233

(d) oI 3

3WRE ara & fawa-ag Feefefad 4 @
oo aad ?

(a) 3NfEa &Nl & Feger W)

(b) Y@ IR g& R

(¢) Tl & fdma W)

(d) Wahﬁiﬁa:r,msﬁzmm




30.  According to the passage, the torture of !31.
the mind and spirit is caused

i

‘al by the impact of foreign domination.

{b) by the desire to escape from foreign
domination and find consolation in
visions of past greatness.

{ey  due to lack of equilibrium between

an external life and an internal life.
32,

id] due to one’s inability to be either
revolutionary or other-worldly.

Directions for the following 3 (three)
items :

Read the passage given below, study the'
graph that followes and answer the three:
iteris green helow the figure.

During a party, a person was
exposed to contaminated water. A few
days later, he developed fever and loose |33.

motivn: He suffered for some days before

guing to a doctor for treatment. On
starting the treatment, he soon becamei
better und recovered completely a few
days later. The following graph shows
different phases of the person’s disease
condition as regions A, B, (", D and K of

the curve. 34.

k4

Number of Bacteria

c__
S

P-PFC-L-CG.JB {20 A

Which regionfregions of the curve
correspond/corresponds  to  incubation
phase of the infection ?

(a) A only
{b) B only
{c) BandC

{(d} No part of the curve indicates the
incubation phase

Which region of the curve indicates that
the person began  showing the
symptoms of infection ?

(a) A
by B
{c} C
(d) D

Which region of the curve indicates that
the treatment yielded effective relief ?

tay C

(b D

{fcy E

(di The curve does nov indicate the
treatment

There are four routes to travel from
ity A to city B and six routes from
city B to city C. How many routes are
possible to travel from the city A to
city C ?

@y 24
tb; 12
(cy 10
dy 8B




30. TREIY S AR, TH 3R A P G0N B |31

HROT T & ?

(a) faeeh gy &1 aw@

) Fel wyaE ¥ geraA @ g AR @

(¢ @ dEd AR Fiake e & d9
S

(@ e B e i T 9 9w wifteRy
& & W & 7 A Rell-wgoT 32.

frefiRaa 3 () wewe & e fdfer -

T SERE BT AT BT IR Ipld F
e By e &9 geaien & Fo) o |

5 gga & whe R & RE
o Wi o B Hw § | 3 g |
fe=t @ gER o T AR X o | TE
& 37 Al a6 98 TER 3R o B I
2T, iR 399 Sz ¥ @ ot | JUER gH
& B UgER, Y B I AW AT GE
A 7 3R 9% 38 & RA 4 fiepa 8% &
o | FeEfafEa see § 3w @Re o e
awn & ¥ WOT a6 & A, B,C,D W
E &3 & v # e e g |

34,

P-PFC-L-CGJB (21 - A)

I DS DEA-AYDETI AT GPAT D
Ja¥ae WROT B W BfE P

(a) A A

(b) Pacl B

© B3RC

(d) T D B1F W W IZHAT TOT DI AR
T

a% & e &7 X ¢ a1 & s 3 @fE
# THHOT & AUl Sdhe B Y §E ?

(@) A |

(b) B

) C
(d D

% & U &7 ¥ i dar & & R |
yuTE @S W g8 ?

(a) C

(b)y D

) E

(d) agaasmaﬁqﬁ?asﬁm

I AN IR BAP T S fole IR I &
AN IR BY IR C a6 91 & o &
TWT I IMAY IR Ca6 70 & e

e T dwa € ?

(a) 24
{b) 12
(¢y 10
(d) 8




35. A contract on construction job specifies
a panaity for delay in completion of the
wurks  beyond a certain date is as
follow~ © ¢ 200 for the first day, T 250
for -he sccond day, ¥ 300 for the thirdu;
day etc, the penalty for each
succeeding day being T 50 more than
that of the preceding day. How much
penalty should the contractor pay if he
delays the work by 10 days ? '
fa} ¢ 4950
ibi < 4250
{cy 2 3600
{di ¥ 650

36. Consider the figure given below and
answer the item that follows :

S
oz P |
In the figure shown above, OPl and OP,
are two plane mirrors kept perpendicular
o each other. S ts the direction of a beam !
of light falling on the mirror OP,. The
direction of the reflected beam of light
from the mirror OP, will be
‘a. Perpendicular to the direction S.
) At 45° to the direction S.
‘©) Opposite and parallel to the
direction S. ‘
(d} At 60° to the direction S.
P-PFC-L-CGUB { 22

37.

38,

A

Consider the following figure and answer
the item that follows ;

N

What is the minimum number of different
colours required to paint the figure given
above such that no two adjacent regions
have the same colour ?

(a) 3
by 4
{c} 5
(dy 6

Consider the following figure and answer
the item that follows :

el ]

15

2 ]

T

I
i 48
!

A R

A square is divided into four rectangles as
shown above. The lengths of the sides of
rectangles are natural numbers. The
areas of two rectangles are indicated ip
the figure. What is the length of euch side
of the square ?

(a) 10
{by 11
{c) 15

(d) Cannot be determined as the given
data are insufficient




55, Rl Pforand @ <hm &, ve FrefRalsr. 9 & T aph w RaR @R SR

&t & W orf wes § & & foe dg @ yzarq fee e s o R A
farder fbar mar &, S 59 YR € : T | .
feq & fow 2 200, TR & & foe 7 250, *
IR e 3 fow oz 300, @R | TR
wWadt &7 & e <= fuee fm @ ¢ 50
Hoe & | ot e g @9 H 10 |
ftrs o € @ SBeER @ e €8 S|
A Wi ? :
FR & 7 pla A afE e W & Froead!
() T 4950 gt § U St 1 A8 WA € a1 39 Sl
b) % 4950 - ﬁ@wﬁﬁﬁum-ﬁ-ﬂﬁﬁﬁm-w
| &l & FeRd enfl ?
(¢) T 3600 (a) 3
b 4
(d) ¥ 630 (c) b
(dy 6
36. @I & ¢ Il R TR Hw sk TF |38, R & 1 Il W faar A ik Iwe
Ty e eyl @ IR AfAw T fu e g & IR A -
5
48
FR & 7 skt 7, OP, 3k OP, & wHaeT
2607 & 3 vH-ER & e fRr § | OP, . o
ador TR Tg Al o o A e S E IR faw R e af @ uR s §
WY % OP, afur & wafda wore ot B R | fawws foen T & | gt B ol
Far anm ? dargdt emqet wwead & | sl § & st
| . . ¥ fowat sifed & + @ & TRE g B
(a) S faen & srge GEIHE i
o (a) 10
(b) ST d 45° W & 1
- o) 15
(© 8 M & R e i Ed)) fafRa =& fear o1 gwa wife e
(@ SREmd60° W T 3T St §

P-PFC-L-CGJB . (23-A)




39.

A person has only ¢ 1 and % 2 coins with [42,

her. If the total number of coins that she !
has is 50 and the amount of money |
with her is & 75, then the number of 2 1
and ¢ 2 coins are, respectively

ta) 15 and 35 I
‘b* 35 and 15 |
‘e 30 and 20 |

|

1

d: 25 and 25

I

40. Three persons start walking  together
and their steps measure 40 cm. 42 cm
and 45 cm respectively. What s the !
minimum distance cach should walk =0
that each can cover the same distance |
in complete steps ? l

|
‘a) 256 m 20 em |
|
th: 50 m 40 em \
i) 75 m 60 cm |
|
fd' 100 m %0 cm |
!

41, If a
a train travels 320 km in 5 hours at|
uniform specds. then what is the ratio!
of the distances travelled by them in'
one hour ?

‘ar 8:56

thy 5:8 f

‘cl 4.5 |

(dr 1:2 !
P-PFC-L-CGJB (24 -

43.

There are 100 students i a particular
607 students play cricket, 30¢
student play football and 10°: students
play both the What  is  the
number of students who play neither

class.

games.

cricket nor football ?

‘a} 2B
b: 20
{cy 18
(d» 15

A willage having a population of 4000
requires 150 litres of water per head
per day. It has a
20m x 15 m x 6 m.
tank will last for

tapk measuring
The water of this

‘a) 2 days

‘bt 3 days
‘et 4 days
‘dy 5 days

bus travels 160 km in 4 hours and ' Directions for the following 4 (four) items :

Read the following passage and answer
the items that follow. Your answers to
these items should be based on  the
passage only.

Passage
A species that exerts an influence
out of proportion to its abundance :n an
ecosystem is called a keystone species.

The keystone species may influence both




39,

-+ 40.

41,

P-PFC-L-CGJB

A HUH T 1aw T 2> Has € |
afz s@% TN g 50 fRaas & ik gaf¥
2752 @ 39 @ T 1 AU T 2 % (G
B = B .

AR 3 E
b 353k 158
() 303 20%
25 3R 25 &

{a)

(d)

A9 =Rs 06 Y TEe IRH TR & A
1% DAl & AT HHIE 40 cm, 42 em TAT
45 cm & | Q@ @i Bt e @
s del e YOS e /W ga @ gl
WO K B A ?

(a) 256 m 20 cm

(b)

(¢} 75 m 60 cm

50 m 40 em

(dy 100 m 80 cm

afe va-gaE T A ge R UE 99 4 W
¥ 160 foorlt g o a=al & qur v oS
56 F 320 fl g0 o B &, @ o
gRT ve °U¢ § ag & ¥ gRaAT A @
sgmte

'('a) 8§:5

(hy 5:8

_ tc) 4:5

(d) 1:2

42,

43.

{256 - A)

<y wan 1 fFenforal & T 1008 | 60%
el e Qo €, 30% fammell peatd
e & aar 10% ok A o @ €
W Rl & e v & 3 A o fede
Qe # 3R 7 & gedie Werld € ? |
(a) 25
(by 20
(¢c) 18
(d 15

v T & S 4000 ¥ B B R
ZR6 Widies 150 Tex S @ JNavaddl
| 9P 99 v ) @ < & Rore
AT 20mx15mx6ma | T & B
& 57 oo A & 9urg 8o 2

(@ 2= % |

(b) 3T #

© 4R #

@ sk #

| FefiRea ¢ (ar) geiet & fore Fder -

Frafeifaa ararer @ ofge IR 3995 Fwid
Re o geiel & R A | g7 g & .
I FR T o@w ) & ka8
TIew
oRATe

e i s e oRfeR@-ds 8
ST TERAT S AU A g5 IR FHIG STeTh
&, R St (S sl wer s & |
oot (BRer) Fifer, Ffa & wgerl @
wyfe aon aRRefyd-dat & s 3 sk
Terel % vaTe @ yIiad ) wEd § 1 R
aRT ERRex iedfyaw |, @ I




the species richness of communities and [44.
the fluw of energy and materials through
ecosyrtems.  The sea  star  Pisoster
ochraceus, which lives in rocky intertidal
ecosystems on the Pacific coast of North !
America. is alsn an example of a keystone
species [ts preferred prey is the mussel
Mytilus californianus. In the absence of ?
sea stars, these mussels crowd out other

45.
competitors in a broad belt of the

intertidal zone. By consuming mussels,

sed star creates bare spaces that are'

taken over by a variety of other species.

A study at the University of

Washingtan demonstrated the influence of |
Pisaster on species richness by removing |
sea stars from selected parts of the
intertidal zone repeatedly over a period of .
five years. Two major changes oceurred in r
the areas from which sea stars were
removed. First, the lower edge of the
mussel bed extended farther down int,oi46'
the intertidal zone, showing that sea stars |
are able to eliminate mussels completely
where they are covered with water most of j
the time. Second, and more dramatically,
28 species of animals and algae
disappeared from the sea star removal ;
zone. KEventually only Mytilus, the
dominant competitor, occupied the entire
substratum. Through its effect on:
competitive relationships, predation by*
Pisaster largely determines which species

live in these rocky intertidal ecosystems.

P-PFC-L-CGJB {26 - A)

What is the crux of the passage ?

(a} Sea star has a preferred prey.

(b} A preferred prey determines the
survival of a keystone species.

(c) Keystone species ensures species
diversity.

(d) Sea star is the only keystone species
on the Pacific coast of North
America.

With reference to the passage, consider

the following statements :

1.  Mussels are gencrally the dominant
species in intertidal ecosystems.

2. The survival of sea stars is
generally  determined by the
abundance of mussels,

Which of the statements given above
is/are correct ?

(a) 1 only

‘b) 2 only

{c} Both 1 and 2
(d) Neither 1 nor 2

Which of the following isiare implied by
the passage ?

1. Mussels are always hard
competitors for sea stars.

2.  Sea stars of the Pacific coast have
reached the climax of their
evolution.

3. Bea stars constitute an important
component in the energy flow in
intertidal ecosystem.

Which of the statements given above
is/are correct ?

{fa) Land?2
{b} 2 only
{e) 1and 3
(d) 3 only
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A7 |
(b) Wﬁ(m)aﬁﬁsﬂqﬁ‘fﬁm
gade ReR ¥ Feiia a2 |
(c) @ﬁﬁw ({@re) A, s &
Rz & g o & |
@) a9 mRer ¥ weid R ¢ ®
%HWWHWW(M)
|

méaﬁaﬁﬁ,ﬁm%%ﬁmwwﬁaﬂ

o A Y T T & 2
{a) ¥ae 1

(b) HacT 2

@ 13k 23

@ FA1ARTD 2

frafefiaa § ¥ S-oF TR g aw

TR < BT &/8d ¢ ?

1. wwv@aﬁaﬁaﬁwmﬁ
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47.  Consider the following assumptions :

l. The food chains/food web in an
ecosystem  are  influenced by
keystone species.

2. The presence of keystone species is
a specific characteristic of aquatic
ecosystems,

3. If the keystone species is completely
removed from an ecosystem, il will
lead to the collapse of the
ecosystem.

With reference to the passage, which of

the above assumptions is/are valid ?

(a} 1 only

(b) 2 and 3 only

(¢} 1 and 3 only

{d} 1,2 and 3

48. Consider the folowing argument .

“In order to be a teacher one must

graduate from college. All poets are poor,

Some Mathematicians are poets. Nol

college graduate is poor.”

Which one of the following is nof a

valid conclusion regarding the above

argument ?

{aj Some Mathematicians are not
teachers,

(b} Some teachers are not
Mathematicians.

{¢; Teachers are not poor.

{d; Poets are not teachers.

P-PFC L-CGUB { 28 -

49,

50.

51.

A

A student on her first 3 tests received
an average score of N points. If she
exceeds her previous average score by
20 points on her fourth test, then what

is the average score for the first
4 tests ?

(a}) N + 20

(by N+ 10

(c)y N+4

(d N+5

In a group of persons, 70% of the
persons male and 30% of the
persons are married. If two-sevenths of
the males are married, what fraction of
the females is single ?

are

(ay 2/7
(b) 1/3
(c} 3/7
(d) 2/3

The houses of A and B face each other
on a road going north-south, A's being
on the western side. A comes out of hix
house, turns left, travels 5 km, turns
right, travels 5 km to the front of D’
house. B does exactly the same and
reaches the front of C’s house. In this
context, of the following
statements 1s correct ?

which one

fal  C and D live on the same street.

(b, C’s house faces south.

{c) The houses of " and D are less
than 20 km apart,

{d) None of the above
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48.
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(@) N+ 20

(b) N+ 10

() N+4

(d) N+5
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Directions
items : ]

P-PFC-L-CGJR

for the following 5 (ﬁve)i

Read the following passage and answer
the foms that pobtfow Your answers to
these it i sheald be bosed on the Plrssasge
only.
Passage ‘
Now India’s children have a right
to recerve at least eipht years of education.
the gnawing guestion is whether 1 wilTl
remain on paper or become a reality. One |
hardly needs 4 reminder that the ruzht
s diflirent from the others enshrined in
the Consetitution, that the beneficiary

‘a six year old child cannot demand ‘t, ner

car she or he fight & legal bawtle when ;’2
152,
the right +» denied or violated. In all cases, %

it is the aduit society which must z2ct on

f

behalf of the chitd. In another peculiarity,

where u child's  right educaton i

o
denied ro compensation offered later cun )

he This l'

S0
I

adeguate  or relevant. Ls
because ehldhood does not last. If a legal f
battle tought on behalf of a child - l
eventually won, it muy be of little use to |.
the bov or wirl because the opportunity
mixsed at school during childhoed cannot

serve the =ame purpose later in lfe. Thos §

1

may be painfully true for girls because

our sociely permiis them only a \-hortl

{ 30

childhood, if The

Education (RTE; hasx become law at a

at il Right to

point in India’s history when the ghastly

practice  of femuic infanticide has

resurfaced in the form of foeticide. This
is “symptomatic of a deeper turmoil” in
society which is  compounding the
traditional obstacles to the education of
girls. Tenacious prejudice against the
intellectual potentiul of girls runs across
our cultural diverury and the system of
education has not bevr able to address

it.

With reference to the pussage, consider
the following statements

. When children are denied education,
adult svciety does et et on behalf
of them.

2 Right to Education as a law cannot
be enforced in the country,

Which of the
is‘are correct ?

statements given above

ta) 1 only

‘b; 2 only

{c; Both ! and 2
{d) Neither 1 nor 2
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(a)
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55.

1586,

53, Avvording to the passage, what could be
the  traditonal  obstacles  to  the!
education of wirls 7 I
1. Inabibty of parents to fight a legal

hattie when the Right to Kducation
1= denaed W ther children.

2. The traditiona! way of thinking

about girls' rule in society.

3. The preiudice agdainst the !

in' ellectual potential of girls, [

1 I proper zyv-em of edutation.

Select the correct answer from the codes

dven below

ra; 1 and 2 only

h. 2, 4 and § only

cr 1 4und 4 only

d P24 and 1

]

54. On the bass of the passage, consider the
followin+ <ltatements
! Right v Eduvation is a legal right and |

not a fundamental right.

2. For realising the goeal of universal
educution, the edueation syster in the
country must be made identical to that
of developed enuntries. |

[
Which of the statements given above -
fe are correet

[

«a. 1 only i

‘b ¥ oony :

‘c: Both® | and 2 |

fdv Neither | nor 2

[}

P PFC L CGJB { 32

Which one of the fllowmng statements

conveys the key message of the

passage ?

{a) India has declarced that education is
compulsory lor its children.

{b} Adult society is not keen on
implementing the Right to
Education.

tc: The Right to Education, particularly
of a girl child, needs to be
safeguarded.

(dy The system of education should
address the issuc of Right to
Education.

Which one of the following statements
conveys the inference of the passage ?

{a) The wsociety has a tenacious
prejudice against the intellectual
potential of girls.

{b) Adults cannot be relied upon to
fight on behalfl of children for their
Right to Education,

{¢y The legal fight to get education for
children is often protracted and
prohibitive.

(d; There is no sufficient substitute for

education received irc childhood.
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Read the following passage and answer| Read the following passage and answer

the 3 (three) items that follow : the 3 (three) items that follow :
A, B. C, D and E are members of the | In a survey regarding a proposed
same family. There are two fathers, two measure to be introduced, 2878 persons

took part of which 1652 were males. 1226
persons voted against the proposal of
which 796 were males, 1425 persons voted

sons, two wives, three males and two
temales. The teacher was the wife of a
lawyer who was the son of a doctor. E is for the proposal. 196 females were
nct a male, wveither also a wife of a undecided.

professional. C is the youngest person in

60. How females ted for th
the fumily and D is the eldest. B is a Tany  females - vete or ©

proposal ?
male. {a) 430
. (h) 600
57. How s D related to E ? (¢) 624
(d) 640

ta) Husband
61. How many males were undecided ?

(b Son

(at 31
{icy Father (b} 227

{c) 426
‘dr Wife

(d} 581

62. How many females were not in favour of

; ' 9
58. Who are the females in the group ? ; the proposal ?

{ta) C and E (a) 430
(b) 496
ib; C and D (¢} 586
fc) E and A (dy 1226
‘d> D and ;63. In a queue, Mr. X is fourteenth from the
fald and I } front and Mr. Y is seventeenth from the
end, while Mr. Z is exactly in between
59. Whose wife is the teacher ? Mr. X and Mr, Y, [f Mr. X is ahead of
Mr. Y and there are 48 persons in the
) C queue, how many persons are there
between Mr. X and Mr. Z ?
by D (a) 6
c) A T
l icy 8
‘dv B , d; 9
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FrefRea aaier @t affe sk e gearg Re

e 3 (d7) geel & s A -

57.

58.

59.
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A,B,C,D U E v% & IRaR & e

¥ QR g D@ E @ Rt € dm

g3y ¢ 3R A1 Fedt € | sreafier o adar

@ U &, UE IO VS SRR B P E |
E 9 781 ® 3R 7 &1 a8 e aawrh B

Ul & | oReR & ¢ 999 o9 39 & 2 AR
D 951 & | B Us o9 @ |

D& E J o1 w5 ¢ ?
(a) i
(b) T
(c) T
(@ gt

T aE d et slaE e
C3R E
() C3RD
) E3RA
D3R E

(a)

(d)

Rewal oot areafiee & 2

(a) C

(b) D

cy A

(d) B

r=faRea aare @) affe sik sod geanrg e
7w 3 (A7) el & ok dfe

60,

61.

62,

63.

(35 - A)

&l v ywarida s B AN oA
4 qd 39 W fov U e wdawr § 2878

wfepat 3 e forn 5 1652 o9 & |

1226@%5&#%%%@%%211.
i A 796 gow A | 1425 =feEal A wama
¥ e ¥ wa o | 196 Fet st of |

foam femat = weae & war ¥ w4 fear ?
(a) 430
(b} 600
(c) 624
(@ 640

Reert g it & 7

(a) 31

(b 227

(c) 426
(@) 581
fosoit Rt weara & qar 77 o 2
(a) 430
(b) 496

(¢} 586

(d) 1226

e ofes A, e X 9 9 149 @\ W)
gk Amm yam a1 e &, =%
AAE Z, fwE X AR e v S S 7o A
g | fMme X afc fmae Y & 3m € iR o
# o7 48 fh €, A HWE X 3R FmE 2 %
s afmE ?

(a) 6

b 7

) 8

d) 9




Directions for the
items :

following 9 (nine)

The following nine ftvms ‘Questions 64 (o
72) are bosed on three passages in
English tes!  the comprehension  of
Engitsh language and  therefore these
items do not have Hindi version. Read
cach possage and answer the items that .
follor. |

|
Passage-1 |

fo

He walked several miles that day but |
coule not get anything to eat or drink
except some dry bread and some water,!;
which he got from cottagers and farmers.
Az night fell. he zlept under a haystack '
lying in a meadow. He felt frightened at_
first, for the wind blew awfully over the
empty fields. He felt cold and hungry, and
was teeling more lonely than he had ever
felt before. He, howcever, soon fell asleep,
being much tired with his long walk.
Whern he gut up next day, he was feeling
terribly hungry <o he purchased a loaf of
bread with a few coins that he had.

64. When the night tell, he slept
tasy  in the open feld !
thy  under a pile of dry grass |
{c1 in a tarmer’s cottage
‘dy under 4 tree
65. He soun fell asleep because
{a’ he was exhausted
‘b’  he was ajl alone
‘¢.  he had not zlept for days
«dr  he was very frightened
P PFC L-CG.B ¢ 36

66.

A

With reference to the passage consider
the following statements -

1. He
countryside,

was waiking through the

2. The cottagers and farmers gave him
enough food so that he could -leep
at night without f{eeling hungry.

Which of the statements given above
is/are correct ?

{a} I enly

(b} 2 only

{c} Both 1 and 2
{d) Neither 1 nor 2

Passage-1}
I opened the bag and packed the

boots in; und then, just as [ was going to
close it, a horrible idea occurred to me.
Had I packed my toothbrush 7 1 dont
it is, but |
whether I've packed my toothbrush.

know how rever do know

My toothbrush i

haunts me

a thing that

when I'm traveiling, and
makes my life a misery. I dream that [
havent packed it, and wake up in a cold
perspiration, and get vut of bed and hunt
for it. And, in the morning, [ pack it before
I have used it, and it 15 aiways the last
thing 1 turn out of the bag: and then 1
repack and forget it. and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up

in my pocket-handkerchief.




Al 9 () weien & e fder

fefeRaa 9 (1) geaier (veAier 64 F 72)
3fis & e e i smenRa & sk siish
w9 & qeF & g & fow & 1 s g
seiel @1 R g & Rar s xeT & 1|
e AxEier Ui aur HAefERad ween &
3% A |

64.

65.

P-PFC-L-CGJB

Passage-1

He walked several miles that day but

could not get anything to eat or drink|

except some dry bread and some water,
which he got from cottagers and farmers.
As night fell, he slept under a haystack
iying in a meadow. He felt frightened at
first, for the wind blew awfully over the
empty fields. He felt cold and hungry, and
was feeling more lonely than he had ever
felt before. He, however, soon fell asleep,
being much tired with his long walk.
When he got up next day, he was feeling
terribly hungry so he purchased a loaf of
bread with a few coins that he had.

When the night fell, he slept
{a) in the open field
(b} under a pile of dry grass

{¢) in a farmer’s cottage

(d) wunder a tree

He soon fell asleep because
(a) he was exhausted

(b) he was all alone

(¢} he had not slept for days
(d) he was very frightened

(37 - A}

66. - With reference to the passage, consider

the following statements :

1. He was walking through the

countryside.

2. The cottagers and farmers gave him
enough food so that he could sleep
at night without feeling hungry.

Which of the statements given above
isfare correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Passage-I1

I opened the bag and packed the
boots in; and then, just as I was going to
close it, a horrible idea occurred to me.
Had 1 packed my toothbrush ? I den’t
know how it is, but I never do know
whether I've packed my toothbrush.

_ My toothbrush .is a thing that
haunts me when I'm travelling, and
makes my life a misery. I dream that I
haven’t packed it, and wake up in a cold
perspiration, and get out of bed and hunt
for it. And, in the morning, I pack it before
1 have used it, and it is always the last
thing I turn out of the bag; and then I
repack and forget it, and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up
in 'my pocket-handkerchief.




67. When he was going to close the bag, the
tdea that occurred to him was
ta+t  unpleasant
‘b sad
e’ funtastic
'd]  amuasing

68. What makes his life nuserable whenever ;
he undertakes travelling ?
‘a)  Going to railway station
‘br  Forgetting the toothbrush
¢ Packing his bag
-d; Bad dreams

69. His toothbrush is finally *
‘a: in his bag
‘bt in hiz bed
¢ in his handkerchief r
fd:  lost

Passage-[11

[n spring, polar bear mothers emerge from |
dens with three month old cubs. The
mother bear has fasted for as long as eight
months but that does not stop the young |
from demanding full access to her.
remaining reserves, If there are triplets,
the most persistent stands to gain an
extra meal and it may have the meal at
the expense of others, The smallest of the
btter forfeits many meals to stronger
riblings. Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears. I've only once seen the smallest of
triplets survive till autumn.

P PFC-L-CGJB { 38 -

70.

71.

72.

A

Female polar bears give birth during

7

‘a) spring
‘b summer
(cy autumn
d)  winter

Mother bear

{a) takes sides over cubs

(b} lets the cubs fend for themselves

‘c} feeds only their favourites

(d) sees that all cubs get an equal share

With reference to the passage, the

following assumptions have been made -

1. Polar bears fast as long a= eight
months due to non availability of
prey.

2. Polar bears

triplets.

always give hirth to

Which of the assumptions given above
is/fare valid ?

fa) 1 only

‘D) 2 only

(c) Both 1 and 2

{d) Necither 1 nor 2




67. When he was going to close the bag, the
idea that occurred to him was
(2) wunpleasant
(b) sad
(c) fantastic
(d} amusing
68. What makes his life miserable whenever
he undertakes travelling 7
(a) Going to railway station
(b) Forgetting the toothbrush
(c) Packing his bag
(d) Bad dreams
69. His toothbrush is finally
(a} in his bag
(b) in his bed
(¢) in his handkerchief
(d) lost
Passage-II
In spring, polar bear mothers emerge from
dens with . three month old cubs. The
mother bear has fasted for as long as eight
months but that does not stop the young
from demanding full access to her
remaining reserves. If there are triplets,
the most persistent stands to gain an
extra meal and it may have the meal at
the expense of others. The smallest of the
litter forfeits many meals to stronger
siblings. Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only once seen-the smallest of
triplets survive till autumn.
P-PFC-L-CGJB
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71.

72.

. Female polar bears give birth during

(a) spring
(b} summer
(c) autumn
(d) winter

Mother bear

‘(a) takes sides over cubs

(b) lets the cubs fendl for themselves
feeds only their favourites

(c)

(d) sees that all cubs get an equal share

the
following assumptions have been made :

With reference to the passage,

1. Polar bears fést as long as eight
months due to non-availability of

prey.

9. Polar bears always give birth to

triplets.

Which of the assumptions given above

isfare valid ?

(a)- 1 only

(b) 2 only

(¢) Both 1 and 2
{(d) Neither 1 nor 2
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Directions

for the following 8 (eight) ;

items : !

73.
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Given beluw are eight tems Kach iteni |
!
describes a situation and is followed by*

four possible  responses. Indicate  the |

response you  ftnd most apprupriate.

Choose vrly vne response for eoch ilem.

The resporses will be evaluated fosvd on
the 'eved o eppropriateness for the g'iven;

situstion.

Please attempt all the items. There is
no penalty for wrong answers for.

these vight items. |

Yau

explananoen

asked
not

have bheen to an

give

for attending  an

mportant official meeting:, Your

mmediate boss who has not informed !
you aboul the meeting is uow putting
you not to place

alleration against him/her. You would

pressure  on an |

‘a =end o written reply explaining the
fuct.

]

‘h. sevh an appoiniment with the t.opi

bouss tu explain the situation !

¢ admit  your fault to save the

situation,

d put the the ‘

|
coordinator of the meeting for not-

responsibiiity  on

informing,

( 40 -

74.

76.

76.

A

A local thug (bad element; has started
tlegal construction un your vacant plot.
He has refused your request to vacate and
threatened you of dire consequences in
case you do not sell the property at a
cheap price to him. You would

ia; wsell the property at a cheap price to
him.

{b; go to the police for necessary action.

ey ask for help from your neighbours.

‘d} negotiate with the goon to get a

higher price,

You have to accompiish a very important
task for your Headquarters within the
next two days. Suddenly you meet with
an accident. Your office insists that you
complete the task. You would

{a} ask for an extensiuon of deadline.

by inform  Headguariers of  your
inability to finish on time

fc;  suggest aiternate purscn to
Headquarter= who may do the
needful.

{d; stay away 1ili you recover.

You are an officer irecharge for providing
basic medica: [acilities Lo the survivors of
an earthquake aftected area, Despite your
best possible effort, peuple put allegations
against you for making money out of the
funds given for relief. You would

ta) let an enquiry be set up to look inte
the matter.

{b) ask your semwr to appoint some
other person in your place.

{e} not pay attextion to allegations.

) stop undertaking any initiative il

the matter is resolved.
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d) 955 & TTEI W ma'rﬁ:rca
e 3 5 39 doo & FEeN T8
il
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CIREG o ,

(a) NG ST e EM W R 9T & |

(b INAvaE FEAE & foe gew &
STE |

(c) U+ vgifedl & Hae AF |

@ 39 8 ¥ 3R e da o & e
T T BT |

st & & F s & e 3w

vE o wevayyt S R &)A€ | 3 8

T HEATIRG & S § | 39l Sraferd A9

W gg SR 816 W& & 6 39 & &1 g |

T H 3T T ?

(a) ®M QX1 B @ 3ifer il s agm &
At | | '

(by 3 FEIEd @ Jfd s 3w
g & & O B UH § 3RER

(c) U D
AW GO I FE G- IR Il ¢ |

(d) OF BN qF A & & |

0 A T T BT P

(a) 307 TN 6 39 wew § Sa-usad
Ry B e |

() I aRs after J R s s 3
s W W) e R Ak @t

T |

() ¥ IR R Py & Tl & |

(d) 9 TP HHH [ g ol s |
I B UEA @ T |

B TF Jofeus IRE &




77.

78.

You have been made responsible to hire | 79.

boats at a short notice to be used for
flood. On
pricc mentioned by the boat owners you
found that the
approximately three times more than

an ares under

iowest  price  was

the approved rate of the Government.

secing t.hc‘
You would !

i
‘a’ rerect the proporal and call for a

fresh price.
ib accept the lowest price.

iy refer the matter to the Government i
and wart,

td: threaten the boat owners about a
possible canceltation of the licence.
You are the officer-in-charze of a viHageI
administering distribution of vaccine in '
an isolated epidemic hit village. und'
you are left with only one vaccine. :
There 1+ a requirement of that vaccine |

from the Coram Pradhan and alse o 80.

poor villager Yuu are being pressurised |
by the Pradhan to
vaceine to fvm. You would

Cram fasue the

‘ar initiate the procedure to expeiite
the next supply without issuing the |
vaccine to either. l

, . . . 1
{b: arrange vaccipe for the poor villager '

from the distributor of another zrea. |

fc! ask both to approach a doctor and'
get an input about the urgency. :

) . |

idy  arrange  vaceine  for the CGram
|

Prachan from the distributor of

another area

P PFC-L-CGJB { 42

You have taken up a project to create

night shelters  for  homcless  people
during the winter scason. Within a

week of Gatablishing “ne sholters, you

have received complaints  from  the
residents of the area abont the increase
in thefl cascs with 1 demand to remove
the shelters. You would

them  to written

{at  ask lodge a

complaint in the police station.

tb) assure residenis of an enquiry into
the matter,
vonsider  the

fe: ask residents  to

humanitarian effort made.

d  continue with the project and ignore

their complaint.

You., as an  administrative authorty,

have been approached, by the
dauzhter-irilaw of an lafluential per.un
regarding “arassment by her in-laws on
account of insufficient dowry. FHer
parcnts are rot able to approach you

because of soeial pressures. You would
ta) call the in laws for an explanation.

‘b counsel the lady to adjust, given
such a circumstance,

‘¢ take action  atter  her
approach you,

parents

‘d: ask her to lodge s complaint with
the police.
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(b)

(d)
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3 -390 31 vt &R & Uh TEE &
fiax &, s 39 &7 & Fafal [
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i
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(¢) 3 Fafdl ¥ e 5 § foe "
AgdER YA @ 99 |

(d) 3y FaRml & Bend & sFeE
R ORI B IR @ |

wm%ﬁmmqﬁ

FOS FEHG WRERI EH & AW, 98

Rrera e sud! ¢ 6 390, 9gd @ R

HUOT &S & fole a1 3R @ B | IHS

AT-TUaT WHIfsTh aaral & PROT TS T

T w R & | W A 9 T H 7

(2) 39 IgS GG Tl B AR I

WLIGROT /A |

IO 3 Sl B ag "W b

uRivefkal @ &g ge 'R 8w 6

ag Refy & wmsiiar a= o |

(c) 3N I¥G AU F WS U HA
R & BREE HA |

M I T B aE TAE o [F 9w
gferr & o e Rrera &5 o |

(b)

(d)
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Note ; English version of the instructions is printed on the front cover of this Booklet.




